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dA(t) _ oo t/ X
= D0t/ 2.A.13
O0A(#)D0000000000000000000
t
A(t) = @/ ! Nidy
i Jo
::%%@”Ai—l) (2.A.14)

0000000 @AI2) 00000

A(t) = 3(1 ) (2.A.15)
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gbooobooboobooogon

J(t) = ) _ Giu — e M) (2.A.16)
oo i

2B 0O00O0OOOO

0 @EN0EI0E3Y0000000000000000000000

f(x) = /x g(x —y)h(y)dy (2.B.1)

—o0
goboooooboboooo200b000000000O000000000
—ocoO00O x00000000D0000O0O000O0 z00 —coOOOOOODO
0000000000000 000000000000D0DODDDOOLaplace
O0000D0 Fourier OO0OOO0O0DODOODOOOO0ODOD Laplaced O
0000 Fowrier 00 0000000000000 0O0OD EBI)0OO
000 f(2)0g¢(2)0h(z) O Fourier 0 00O

F(iw) = /000 f(z)e"™*dz (2.B.2)
G(iw) = /000 g(z)e™™*dz (2.B.3)
H(iw) = 000 h(z)e”™*dz (2.B.4)

00000 @BI)0000 Fourier 000000
/ f(z)e “%dx = F(iw)
0
:/ / g(z —y)e " Vh(y)
0 —00
xe~“Ydydx (2.B.5)
000000002z-y=w000000000 @B O0OO000O0

F(iw) = /OOO h(y)e~“vdy /000 g(u)e™*"du
= H(iw)G(iw) (2.B.6)
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0ooooo
0000000 @3)00ooon

G* (iw)J* (iw) = 1 (2.B.7)
O00000O00Oon
G*(iw) = iw / G(t)e ™tdt (2.B.8)
0
J*(iw) = iw / J(t)e “tdt (2.B.9)
0

00000000 @32)0000 Fowier 0000000000000
(iw)? / te” At = —iw {tei“’t] + iw / e~ it
0 0 0
=1 (2.B.10)

0000
0000 @000 @R 000000+(t) 0 o(t) 0 Fourier 0000
000

F(iw)/ooofy(t)ei‘"tdt (2.B.11)
S(iw) = / h o(t)e“idt (2.B.12)
0

00000t—00t—o000~(t)»000(t) 00000000000
00

/ o(0) =ity — (i) (2.B.13)
, i
/ DO iwrgy _ jour (i (2.B.14)

00000000000 @A)00 @8 0000 Fourier 1000
S(iw) = G*(iw)T (iw) (2.B.15)

[(iw) = J* (iw) S (iw) (2.B.16)

0000000000000 @BOHOOODOO0OOO
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o RS
= g
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2 " e
% i ALk A
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o A,
R AF L
_4 1 1 1
4 5 6 7 8
logM,,

022400000 000000000 cc,ODOOOODDOO M,OODO

2.C 0OO00OOOO0ObDOOOoOOOoOoOon

022400000000000000000000000000000O
O00oo0o0o0o0oooooboOo21120000000000000000O
0000 00000000 M,00000000

MO

Ce = —<

M,

(2.C.1)

gbobooobOoooobobooboobooboooboobooooon
MODOOO0000DODO35x10*000000000000000O0
oooooooooogoon

ocoooooooDb 10000000000 cs0b00O0oooDboboOon
oboboooboobOoobooooboobooboOoboooboooon
ocooooooOooOoooooooobo0oooooooooooog e
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00000000000 ¢*00000 00O
=t (2.C.2)

00000000000000000000000e000000000
00000000 345°C(O©) 00000009

Me/cm®g™! =88 x 1072M%5  (10° < M,, <6 x 10")  (2.C.3)
D000000000000000025°co0nooog®
[n]/cm3g™! =78 x 1073M%™ (4 x10* < M, <6 x107) (2.C.4)

goooopoooooO0oooooeddd esOOD0OOOoDObOOOO
o000 «00bO0o0ooobon

0000000000 0000000000000 O00Oooo
000000000000 000000000 00000 O
gbooobooboobgooogoo

ne =1+ [nle+ kNP> + - (2.C.5)

D00 O Huggins 0000000000000000000000 [ple
000 f(nle00000000000O000O0OO £,000000 ¢*
0000000000000 ¢/¢*000000000000000000
fa(lnle) = fy(c/c) D00 =[y~' 0000

oe0000OO00ODOOO0OOO0OO0OOOOOOO0OOOOOODOOODOOD
gbobobobobobbobobobobobobobobobon
goboooboooboooboooboooobooooboooooooon
oooooooDeonoooo M,010°'00000000000000
goooobooooboooooo M,000000000D0000DOO
goo
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H(T) (dynercm?)

1

10° 10° 10

T (sec)

022500000000000000000000000000 H(r)OODO
000 (c=7.5wt%)

0000000000000 00000000000 e0O0O00O0OO0
0oooooo0oooo M,0000000000000 H(r)Dooa
022500M,00000000000 000000 H(r)DDODOOO
22000000 OpDOO0,0D00000000000O00OODDOOODOO
0000000000000000000000 (30°CO 7 =125 cP)
000000000000 000000000000 211.100000
00000000000000000000000000 (0O0)00a0
000000000000

02250000000 c¢c00.75wt%0 00000000 M,0000
000(@0OM, =1.80x10% 00M, =8.6x10° 00M, = 4.11 x 10%
0o0M, =20x10°00 M, =20x10°000000000000
000000000000000000000000000000000
0000000000000000000000000O00000000
00000000000 00000000000000O00000000
0000000000000 00000000000000000000
00000000000000000000000000O0 00000
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10 o] (RS

H(T) (ayretomd)
P
‘o/o’
Q’Q
Q
o
/o

022600000000000000000000000000 H(r)dO0O
00 (M, =4.11 x 10%)

Oo00D00000D0D0O0DOOo

022600000000 M,0 411x10°00000000000 ¢O
000000 (00¢e=0.1403 g/cm?; O O¢ =0.1051 g/cm?; 0 O ¢ =0.0706
g/em®; 00 ¢ =0.0424 g/cm?®) 00 ¢ =0.0424 g/em®* 00000000
000000000000 D0000000000000000DDnooono
0000000000000 D0000D000D0000D000DO00OOnD
0000000000 D0000D0O0000D0000000ODooOono
0000000000000 D0000D0000000000000000
ooooooo

0000000000000000000000000000002.10
00000 Rouse00DD0OO0—0000000000O0DODOOOOO
0000000 ZmmOO @ OoOoOoOOOOOOOODOOOOOOOO
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2D 000O0O0OOO0ODOODbDOO O
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0 2.27 Robert Hooke (1635/6/18—1703/3/3)

0 2.28 Sir Isaac Newton (1642/1/4—1727/3/31)
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0 2.29 Ludwig Eduard Boltzmann (1844/2/20—1906/9/5)

0 2.30 James Clerk Maxwell (1831/6/13—1879/11/5)
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0 2.31 Woldemar Voigt (1860/9/2—1919/12/13)

0 2.32 Lord Kelvin (William Thomson) (1824/6/26—1907/12/17)
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0 2.33 Bruno Hasbrouck Zimm (1920/10/31—2005/11/26)

0 2.34 Werner Kuhn (1899/2/6—1963/8/27)
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0 2.35 Eugene Guth (1905/8/21—1990/7/5)
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0 2.36 John Douglass Ferry (1912/5/4—2002/10/18)
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goddodddddddoddddoddddodoobbbobobbobbon
000000000 (Coo0o0oooooOoO0)oooooooooOoo
0000000000000 oooooooon
DDDDDDDDDDDDDD)E

gobobodbbooubooobuoooboooooooboboooo
Jdodoboooobooobooboobboobboobobooooooo
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00000000000000000000000000000 (con-
stitutive equation) 00 000000000000 (rheological equation
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3.1 0OOd0d

D000000000000000000000 00000000
O000000 (00 +)0000000000000000000000
Oe(t) 0000009 (t)(—co<t' <t) 00000000002

o(t) = F{y{t');—oo <t <t} (3.1)

O0b00e0O00DOOO0ODyOOOOODOOOODOODOOODOOOOO
000000 000000000000000O0O0OO00OOOOO
O0000000000000 Oldroyd 000000000 300000

1. 000000000000 ¢t00000000000000000
t00000000000000000000000000000
D00000000000000000000000 (Determinism
0ooo)

2. 0000000000DOO0O0ODOOOODODODOOOODOn
ooo0ooO0oooboooooOoogoooooooooooobobooo
0000000000000 (Material Objectivity D000 )

. 00000b00oobOooboobooooboobooboooooon
gbgbobooboobooboboobonobaoboobooba
gooogo

00 (1)00000o0ooooooD (20oooooooooooo
goboboooobooobooobooobooobooobooooboooon
gooboooboobboooobooboooboooooooooooonon
oobooobooooboooboooobooooboooooboooobooooon
0((2)00000o0o0o0oUo0oU0oU0oU0oOoOoooooo
0000000000000 3)Uo0oUoU0oU0oOooooooo
gboboobobooobooobooooooboooooboooooooobobooon
00000000 @I)00oo0o0uo0o0oooooooooooooo
oooooobooooogoo

bobooboboooboboooobooooobooboog
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22 [ E AR R

0O 3.10000000000000

3.2 0OUOO4oonb

uboboboboooogboobobobooooobobobd
gboboboopooooboobobobobobooboooooooboon
000000000 000000000000000D000000 (0O
0 0O O )(Space -fixed Coordinate) 00 0000000000000 0O0O
ggbbobooobobobooobbobooobboboooobobooan
O0000000000000000 (Covected Coordinate) 10 00O
000000000000000000000o00o0ooooooooo
0o00o0o0o0o00o0o0oo0o0o0o0oUoooooooooo
gboooboooboboboobooboobooboobooobob
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3.2.1 DOO0O0OOODO

oboooobobooobooooboboboobobobbooobooon
000000000000 00D00D00Dooooooo?ooon
gobooobooboooboooogoboooooboooooooooobobooo
obooboboooooboobooooooooboooobooooboooon
ooooooobOooboooboooboboboobooobooooobooooboon
oboboooboooboooboobobobooboboooboboooboooo
gooooobooooooooobboooooobbooboooooboooo
gboooobooboooboooobobooboboobooboboooboooon
ooooooobooboooooboooobooooooooboooboooon
000000000o0oOoooooo (1) (2)ooooooooood
ooobooboooboobobooooboobobooboooooooobobooo
gobooooboooobooobooboooobooobooboobooon
ooboooboooobooooooobooooooboooooooon
gooooobooooobobooooooboboooooo

O000000oO000ooO0o0ooOo0ooOoOooooOooooO (O
00)0000000000000O0O000O00OO0ODOOUOoOOO
oobooooooooobooobooobooboboooboooooon
goooobooogo

3.22 0O000O0ODO

00000000000000000 32000 =000000000
00000000 X0000000000 P, 000 PO =00000
0000000 (€4,62,¢3)0X-000000000000 (2},22%,2%) O
0000000 ¢ (i=1,2,3)00000000000000000000
OO0« (i=1,23)00000000000000000

X-0000000000e; (=1,2,3)000¢t0000 200000
00000 a (i=1,2,3)000 t, 0000 =0000000000 b,
(i=1,2,3)00000000000000000s0000 s,0000
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0320000000000

oood 5
S .
e; = e (i=1,2,3) (3.2)
Os .
a; = o€ (i=1,2,3) (3.3)
— aso s —
bi = 8767/ (Z = 1, 2, 3) (34)

00000000000000 e0a0b; 0000000000000
000000000000000 e 0000000000000000
000000000000000000 a0b,0000000 ¢0 ¢
000000000000000000000000000000000
(00 3A0003BOOO)

000000 P, 00000 P,0000P0O0O0OOP O00P,O
P,0000ds0P0 PO0000ds000000000000000
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00ds? 0 ds3 0
d52 =a; - ajdgidfj
= v;;(t)d¢ de (3.5)

dsi = b; - b;d¢'d¢?
= ;5 (to)d& de (3.6)
0000000D0000000000ds?0dsz0000
ds* = e; - e;jdz'da’
= g;jdz'da’ (3.7)

00000000000 00000 EnsteinOOOOO (DOO0OOO0OOO
0000000000000 0o00o0oOU00oUOooD)00oOoooDOo
0000000000000000000000000000oDO @3
oooooo

3

3
ds® =) ") a;-a;dg'd¢

i=1 j=1

3 3
=D > w(t)delde’ (3.8)
i=1j=1
00000000000 @EA0EHLUEDO v, 0 ¢, 0000000
boooodbooooboboobobobooboobooboooo 2
000000000000 @R0 @E8o00dE (=1,23)00000
004,;0000000000000000000000 @000 g;0
000000ds! (1==1,2,3)000000000000000000da*
(i=1,2,3) 0 d¢* (k=1,2,3) 0000
Ozt
otk

oxt 09
Vel = (W(w)gij (3-10)

dzt =

dek (3.9)

goooooobo
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000040 g¢;00000000

00000 (00)000000000000000000000000
0000000000 (0000)00000000000000000
0D00000000000000000000000000000000
000000000000000000000000000000000
00000 Lagrangian 0 000 000000000000 t,00000
0+t0000000 Ay(t)0000

Ay (€1, €2,6% 1, to) = [ds®(t) — dsg(to)](d€'de”) "
:’yij(éd?g?,gg;t) _’Yij(gl,gzvgg;tO) (311)
oo boboooooooooooooooooon
gobboodddooboooooobooooooooooooooooa

000 Euerian 0000000000000 +¢000000000000
(000000 t)0000000 Ay(t) 0000

A (€1, €2,6% 1, 19) = [dsg(to) — ds?(1)](dg'de?) !
=i (1,67, t0) — vi(€1,62,6%1)  (3.12)
goo0oo00ooooooooooooooooooooooooooon
0000000000000 00000000000000000000
000 @NOEX0O0000000N00N00N0N00NNNNNonoD
gooooooooogo AijDDDDDDDDDDDDDDDDDDD
000000000000000000000000000000000
000000
000000000000 00000000000000000000
gooooooooooo

00000000000000000 v;0g,; 00000000000
000004+Y0¢Y 000000000000000000O000O0O0
000000 a,0b;0e; (=1,23)000000000000000 a0
biOe! (i=1,23) 0000000 PO P,0000D0DDOOODODOOOO
000000 (&,£,8)0 (x1,72,23) 00000ds?(000 ds?) O

ds* = a’ - a’d¢;d¢;
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= " (t)d&;d¢; (3.13)

ds? = bl - bide,de;
= 7" (to)d&d¢; (3.14)

dszzei~ejdxidxj
= ¢ dz;dz; (3.15)
goood
vk =61, ging" =] (3.16)
DDDDDDDDDD(S?D Kronecker 00000 2000000000
0000 BI¥U@EIAHUooioiooooouououooooooo

A¥Y 0 Lagrangian 000 00 Eulerian 00 O
AV (&1, &2, &3, 10) = [ds?(t) — dsj(to)](d&idg;) ™
=7 (&1, &2, E5t) — 77 (€1, 62, E55t0)  (3.17)

A (1,6, &5t t0) = [dsg(to) — ds®(t)](d€;dg;) ™!
=7 (&, &2,&35t0) — V7 (&1,80,&351)  (3.18)

oood
000000004 0000000000000000000000
oooooboobooooooooOooobooooooooooboooooon
00000 A1A,A; 0000000000 n0000000O00O nO

n=/a’ (3.19)

000D00000D0a%-a;=6:000000/;=n-2,0000n00
0oooooo

n-n= (ai -aj)lilj
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03300000000000000

= ’}/”lzlj
=1 (3.20)

O00000000000O00 QoOoooooooyro0o00ooooon
oooooooo eRD
h=r-n (3.21)

00000000 4, (i=1,2,3)00000000 5, a; (i=1, 2, 3) O
D0000 @IM0 @200

h=-=2 (3.22)

DDDDDDDDDDDDDDDDDDDDDDDDDDQEWDDQD
gooooo )

ﬁzvijninj (3.23)
go0oo0oooOoooooooooooooooooooooooon e
0t 000000 hD heODO

% - hlg = [y (t) =~ (to)lminy (3.24)
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0000000 @2)000oooood
h2 — h3 y i
h%O:—h%w—v%mwm (3.25)
0000000000000000000,L,000000000000 a;
000000000000
00000000000000000000000000000000
0000000000000 00000000000000000000
DO0OEulerian 00000000000000000000000000O
00+000000000000000¢+00000000000000
000000000000000000000000000000000

BI2)000

dAw@ﬂ):__lml i (&5 o) — 73 (§51)
dt (t—t0)—0 t—t
dyi; (§; 1)
= Qu&iY 2
g (3.26)
D000D000E=(¢4,€2,6)00000000000r000
dr L 0" (&t)
@Az] (67 t) - otn (3'27)

000000000 o™y,;/6t"0 n0000000D000000D0O00
0v;/0t000000000000000OOO000OODOO0OODODODOO
00000000000000

d” i 0"y (&)

—AY (&) = ——21 2 3.28

din (&) otm (3.28)
0000&=(&,6,8)0000

00000000000000000000000000000000
000000000000000000D0000000D00000000
0000000000000000000 POODOt0O0O0OOODO
(X1, X2 X30t, 000000000 (24,2223 000000 POOO
O0D0000000 FOODOOODOOOOOB

dz’ Ozt !

8X21 8X22 6X23
_ ox oz oz
F= oXx1 0X?2 o0X3 (329)
dx® x> x>
ox1 0X?2 9X3
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00000 (homogeneous) 0 OO0OO0 FOO POOODOOODOOO
0000 (polar decomposition theorem) 0000000000000
OO0 FOO0O00OO0O0OO0O0UOOO0OOVOOOODDODOOROOOOO
gdd

F = RU (3.30)
F=VR (3.31)

ROODOOOOODOUOOOODOOOOVDODOOOODOOOODOOO
000 @3 00000 FO000000O0000OOUOOOOOOOO
ROOODO0DOD0OO0OODO0ODO0OOUOOO0OD B30 FOOOOO RO
oooooovoooooooooooobooooooooobooo
O0000oooobouU=v=100000000I1I000000000
ooooboooogoon

FTF = UTRTRU
= U?

=C, (3.33)

O00DDOORT™R=RRT=100000000000000 CrOC
OO0O0O0D00 Cauchy-Green 000000 Cauchy-Green 0000000
00000000000000000000000000000000
00000000000000000000000000F = VR =
R(RTVR)=RU OO

U=R'VR (3.34)

O00000000000000 Cauchy-Green JOO0OOO0OO0OOOO
ooooooboooo
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V =

1
0
0

30 000000

0

0 (3.35)

0

0 (3.36)
(3.37)
(3.38)

000000000 (F=RU)0O0200000090°0000000
(F=VR)0OO90°000002000000000000000000

Cauchy-Green 0 000 Cg O

Cr =

O Cauchy-Green 0O 00O Cp, O

CpL =

S O

S O =

0
0 (3.39)
1
0
0 (3.40)

—_
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OOO000 Cauchy-Green 000 D0O000OCauchy OO0 ODOO
Ci;(x)D000D000000D0O0D0O0DOOO0DOODOODOO0ODOD C;0
00000 C;'00000000000 FingerDOOO BY00000
0000000000

Bi*Cy, = 67 (3.41)
00 to, 0000 Cauchy 000000 Cy(x,to)dFinger 100000
Bii(x,tp) 0000 ¢t000000000000

o0XFk oX!

Cij(x,t0) = W@le(x) (3.42)
- ox; 0x;
B”@J®:=8Xkaégm() (3.43)

ooooo

00000000000 DOO00 C;0BY000000OD0DO0O0O0
DDDDDD'yijD'yijDDDDDDDDDDDDDDDDDDDDDDD
goboooboobbooooboooboboooobooobooobooooon
ooo0o0O¢:t0o0oO0o0oo0oobo0oOobbo0ooobooD Xoooo
gooOoOoOoop¢ooooooooo

k l
Cij(x,tg) = <g§:igf;j>7kl(€v to) (3.44)
Bii(x,ty) = (Zg‘?jgj)v% to) (3.45)

doddddododdooooobobooooobooboobooboboon
0000000000 ooooooo28gpoooooooooooon
goooad
DDDa(t)DDDtDDDDDDDDDDDDDDDDDDD
Da Oa , Oa
Dt ot oa
00000000vi0 vi=02/0t000000000 “0000 (material
derivative)” 0000000 »'0000000000000000000
0J0d0oooo0O0o00 AddOoooo Ai(t)DDDD

DA;(t)  0A(t) k k
Dt~ a1 + v A g + 0 Ay (3.47)

(3.46)
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0D000000AOOODODD A'() 0000

DA (t)  0A(t)
Dt ot
000000000000 ;000000000

+ vai,k — vﬁAk (348)

ooooboorgoboon

or d(rie;) B ort ;06
7% T W Sl e +r 57 = % (3.49)

oood rijDDDDDDDDDDDDDDDDDDD

or  Ore' O de' _ i
@ = 83’/‘] = 81‘]8 +'I"i@ = ’I"i,je (350)

ooooooooooooo ;0000000

2000000000000 Aij(t)EIDDD
DA, () 0A,(1)

o _ o + UkAij,k + UﬁAkj + U,ijik (3'51)
DAU Aij .. . :
Dt@)::8 a;ﬂ +oR AT ok ARk gik (3.52)

oooo
O00A4,;0¢;0000 @E)0000000Og,; 000000000
ooooooooboonooood
Dgi;
Dt
DDDDDDDDvﬁ»gkj:vj,i 'U,kjgik:’Ui’jDDDDDDD(l/Q)DgU/Dt
=r; U0000 k,; 0000000000000

=V T V54 (353)

1

Kij = 5(%‘,]‘ +vj.4) (3.54)
oooooooooooo0 w,; O
1

wij = 5 (vij —vj4) (3.55)



32 O0OOOOO 75
goooobbbbuoooooobooobog
Vij = Kij + wij (3.56)

oooood

3.23 0O0O0OO0OODOO

oobooooOo3oboooooobooobooooooboooboonn
gboooobooobooooboboooobooooobooboooo

oood

goboobooob1obooboboobooobobooo 32000000
Uiobdida,000000000¢t00b00000000000000
b; (1=1,2,3)000000000000000O

i (to) = 77 (to) = (3.57)

o O =
o = O
—_ o O

O000000+¢t0000000 a; (1=1,2,3)00000000ag =a30
obooobO0b0o00000000v =ajaz2a300

as = a3z = al_l/2 (3.58)

Uboo0biddbe; 0000000 ;000000000 b0on0og

a? 0 0

vii®)=1 0 a7t 0 (3.59)
0 0 a;t
a;? 0 0

Y (t) = 0 a O (3.60)

O 0 al
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Oa=1(t=t)0000

=K (3.61)

a1 (t) = exp k(t — to) (3.62)
oooobooobgon
exp 2k(t — to) 0 0
75 (t) = 0 exp k(tg —t) 0 (3.63)
0 0 exp k(to — t)
exp 2k(tg — t) 0 0
Y (t) = 0 exp K(t — tg) 0 (3.64)
0 0 exp k(t — to)

ooboooOooooOooboooOobooobooboooobooooooon
gboooooboooooooboooon

2ka? 0 0
iy 1
W = 0 —Raq 0 (365)
0 0 —ma;l
s —2/-@&1_2 0 0
gt = 0 ke O (3.66)
0 0 kay
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0000000000000 0G) 0000000000000 0o00on
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0000000 +¢t0000000000 a; (1=1,2,3)0000000
gob0obOo0O00b0 000000000 ap00O00O00 t,e 000
obooobOooooooboobotonog

100
i) =~7t)=1 0 1 0 (3.67)
00 1
000000000000~ 00a,0b, 000006000
v = tané (3.68)
000000040000000 0000 7;(te)0~% (te) O
1 —y 0
Yij(to) = —y 1++% 0 (3.69)
0 0 1
1—|—’y2

v 0
7 (to) = ¥y 10 (3.70)
0 1
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0 —v O
Aj(to) =7ij(to) —vi; (&)= —v +* 0 (3.71)
0 0
v oy 0
A (to) =77 (t)) =77 (t)=| v 0 0 (3.72)
0 0 0

ugbooaod

0000000000000 320000000000 € (1=1,2,3)
000000 a; (+=1,2,3) 0000000000000 3290000
oooonoFO

1 —y O
Fit))=| 0 1 o0 (3.73)
0 0 1

0000000000 CauchyODOOOO0O Cy(t) O

1 - 0
Cij(to) =FTF=[ —y 1442 0 (3.74)
0o 0 1

O00000Finger 000000 B(tg) O

1492 ~ 0
B (ty) = v 10 (3.75)
0 0 1

ooooooo

ubooobobo~0O00000 skO000

y=rt—t) (' <t) (3.76)
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00000000000000000000000 000000000
0000000000 @E0@EIM0O00000

1 —K(t—t) 0

i) =1 -kt —t) 1+x2t—-1)% 0 (3.77)
0 0 1
L+r2t—t)? k(t—-t) 0

() = rk(t —t') 1 0 (3.78)
0 0 1

gbobooobobooboboboob+:obobooboboban

du(®) ) D80
%ﬁ :gg'@,:: kK 0 0 (3.79)
00 0
Ay (¢ Ay (¢ -
4%%1:33 zé): “k 0 0 (3.80)
0
DO000000000
000 400000 w000
~(t) = 7o cos wt (3.81)

0000000000000 000 @80 @ErmMooooo

1 —Yo cos wt 0
7i(t) = | —yocoswt 1+72cos?wt 0 (3.82)
0 0 1

1+~2cos?wt pcoswt 0
Y (t) = Yowt 1 0 (3.83)
0 0 1
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[D0O0000ooooooooo]
00000000000000 (2),22,2%) = (¢,r,2) 0000000
ds O

ds? = r?d¢? + dr? + d2? (3.84)
00000000000000000 g;;0
2

(3.85)

o = O
_ o O
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gij = 0
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00000000¢000000-,0000000000r000 2900
000000000000 +¢+000000000000000000¢0
0000 =¢0¢2=r0¢3=-00000 @MO000000 @3
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0000 +¢#000000000000000000 ~45(t)

r? 7“25—5’2 0
i) = 5% 1+ (r5%)? 0 (3.86)
0 0 1

000000000000004%@#) 0000000
) r’2+(§—$)2 fg—gé 0
V() = — 5% 1 0 (3.87)
0 0
0000000000000-00000000000000000 Q(r,t)
O00000000000000 CouettedOOODODO

00 9

Or 020t (3:88)
000000 &0

K = rmé:’ 2 (3.89)
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00000000000 0000]
0000000000000 (2Y,22,23) = (¢,0,r) 0000000 ds
a
ds? = r?sin? 0d¢? + r2d6? + dr? (3.90)

O00000000¢e000000ODOOOOOOODOAODOO reO
ooooooooOoOoOO0OO0000D0D0D0D0 gy 0

r2sin?60 0 0
gij = 0 7"2 0 (391)
0 0 1

000000000+¢+000000000000000000¢00000
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0¢000000000000000000 ~;,(t)

r2sin? 0 r2 sin? Gg—g, 0
%)= | risin® 055 r2[l+sin®0(55)% 0 (3.92)
0 0 1

00000000000000A¥@#)0000000

) T*Q[(aa—g;)z + cosec?0] —r’2g—§; 0
V() = —r 25 r2 0 (3.93)
0 0 1

0000000000000 000000O0O0OOOOOooOon Q,t)
gooobooogn

ono,t) 9%
29 020t (3.94)
gooobo 0O
K= sin@% (3.95)
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0000000000 D0000000O0000D000 20000000
00100000 (body force)F, 0000 (00)00000 (00000
O000000000000)000 100000 (surface force)F, 000
000000D000D0000DO00O0DO00ODO0OD00O00Oonooon
goooooooooooon®

000000 37040000000000000dVO00O0 nO000
00000000 dS00000000dS; ((=1,2,3)00000000
O0000D000O0 (0000000000000 000)000

Fy,dV + F7dS — FidS; =
FyldS + FdS — F.dS;, = 0 (3.96)
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dSO000000000000D00O00O00 POODOOPOOOOOO
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0000000000
F7dS = FidS; (3.97)

0000400000000000000000000000000
al
nds = —ds; (3.98)
0000000 a,00000000
ds; = a'l;dS (3.99)

O000000000,00000n00000000000000 @97)
oooooo
F? = o'l;F! (3.100)
0000000 FL=F! -a’a; 000
F? = a';F. - a’a, (3.101)
0000000000000000 ¢¥0
o' = a'F. - al (3.102)

000000000000 @GIN)0000000 n000OD0O0O0O0OOO
000000000 F,=F?0

FS:O'ijliaj (3103)
O000000000000000 F, 00000000 F?O
F" = 0", (3.104)

0000000000000000000000000000000 o%
000000000 GBI ooooouoooooooooouooo
gooooo

000000 a; (+=1,2,3)000000000000000O0O0O0OO
oddp; 000000000

F, = pisay, (3.105)
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P22
P12
Ps2
a, P21
A
P23 P11
Pa1
0 -
v d
B P13
Pa3
0380000000
a/ 00000000
P11 P12 P13
F, -a’ =Pij = P21 P22 P23 (3.106)
P31 P32 P33

O000000000000000 GI@)0ood

o = py (3.107)
0000000000 p,; 00000 py (i=1,2,3)0000000000
O00py; (i#)0000000000003800000000000
0000 (00000000000000)00000000 p;0000
0000000000000 0000000000000000000

O000O0)00000 aa 000000000000 0O0O0O0O p12=pan
obooooobooooooboooon

pij = pji (3108)
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O00a (=1,2,3)00000000000000000000000
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a;/a; 000000000000000000O0OOO @)00

O'ij = aiajpij (3109)

0000000000000000006Y 0000000000000
0000000000000 00O00000oOo0OOoUooooOo0O @BI102)
00000006 0000000000000000000D00000
goooboboobooboobooooboooooboobo

oooooooooo p; 0J000ooo00ooooooooooon
goooo

-po O 0
Pij = 0 —po O (3.110)
0 0 —po

gboboboobobobobdpoO00ob0O0OO0ObOObOOoOOobOOn
ooboooobOooboooooobooooooooboooooon
oobooooboobooooboo 3s40b00bo0oobooooboobooooon
000000000 p; O

pi1 pi2 O
Pij = | pi2 p22 O (3.111)
0 0 ps3

000000000004000000000000000000000
00000000000 0000000000000000000000
0000000 pip —peeOpae —pssOpo 0 300000000 2000
000000000000000000000000

00000000 n0000000000000000 F/00000
0000 ¢Y 000000000 [0 @GI)0

Fi =o', (3.112)
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Fyj = oyl (3.113)

000000 @4 0000000 F, 00O n0OO0000 F?O
FM =o'V (3.114)
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gobooobOoobobooooboooboboboooboooboooooon
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000000000000000000000000000000000
0000000000000 000000000000O00O0 Boltzmann
00000000000 D0000000000000000000000
00D00000000000000 B.D. ColemanD W. NollODOOD
Oooooo49EE8loppoooo00000000000ooooon
00000000000000030000000000000000
0000000000000 D0000D00000DO030000000
00000000000 D0000000000000000000000
0000000000000000000000000000 (0)000

0000000000000 0000000000000000 300
00O (i) Determinism0 (ii) Material ObjectivityO (iii) 0000000
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e (v)JODODUIDDOOUUODOODUOOOUODDOOUOODOOOOUODOO
goboobooobobooobooooboooboboboobooog
oooooao

e (v)JOUUUODOODOUUODDOUOODOUDUDDOOOUUDOODOO
ooooboooobobooboooobooooon

00 (iv)0OODOO ()0000000000000000 (v)O0OoO
000000000000000000000000000000000
0000000000000 00000000000000000000
0000000000000000000000DO0(000000000
0000000000000000000)0000000000000
0000D0000000000000000000000000000

34.1 DO0O0DOO0ODO

0000000000000000000000000000000
000000000000000000000000000 Eulerian O
000 Cauchy-Green 1000 CRO00000000000000000
Do(t)00000 Cr(t—t)(—co<t' <t) 0000

o(t)= F{Cr(t —t');—oo < t' <t} (3.115)

00000 O Material Objectivity 00 0000000000000 Q
(QQT=10000

QoQ" = Q7 {Cr(1)}Q"
= 7{QCr(t)Q"} (3.116)

000000000O0CgR(Y)=Cr(t—¢)0000

Cr(t)=1 (—co<t' <t) (3.117)
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o = F{Cr(t)}
= —plp(H)1 (3.118)

00000000p00000,000000000000000000
ooo @IIm)o

o(t) = —p[pMOT+Z{Cr(t —t') =1, p(t); —co < ' < t} (3.119)
000000000000000000000000 pO0000000
o(t) = —pl+%{Cr(t—t)—IL—oco <t <t} (3.120)

gobooobooOooobooboboobobo phbOoOoboOoOobOOoOoOoon
000000 e+pl000000OOO0OOOOO BIZ0) 000000

o(t) +pl = Z{G(t')} (3.121)
00000000%000000000000000
G(t')=Cr(t—-1t)-1 (3.122)
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O00((v)000O00O0000000O000U0O0OOoUoooUooo
00000 G@H)0D00 (norm) ||G|| O

o 1/p
e { / [|G<t'>|h<t’>]pdt’} l<p<oo  (3.123)
0
DDDDDDDDDD|G|DDDDD Gooooo
IG)* = Tr(GG™) (3.124)

O0000O00A)0D0DO0O0OUOODOODDOODDOODO0OUOOOUO
O0000A#)00<t <ooOOOODOOOODOOUDOOO

lim #"h(t') =0 (3.125)
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R(t)y=@{#+1)"" (3.126)
000000000

M) =eP"  B>0 (3.127)

0000000000000000000AY)00000000000
000000000 @23)O0000 ||G|0000000000nnd
000000000000000000000000000000000
000000 ||G|=00000

0000000 ||G|=00000000000000000000
00 (Fréchet differentiable) 00 0¥ 0000000000000000
00000 (fadingmemory) 1000000000004 0000000
00000000000GWY)000000000000000000¢
0G{#)00000000000000000000000000 @IZ)
000000000

a+m—/mmwmwmﬂ

/ / {a(t' )G () G(t")

+o(t', ") [TrG(¢)])G(t") }dt' dt”
+O(|GI) (3.128)

0D000O(|G*)000000m0e0b00000000000000
000000000000000200000000000(|G|*)00
0oooooo

a+phi/wmwxnww’ (3.129)
0

0000000010 (00)0000000000000000000
000003000000000000000000000000000
0OEOODO

G(t') = 2E(t —t') + O(|E|?) (3.130)
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O0000000 FOODODOOOO HO
H=F-1 (3.131)
O0000D0DHOOOOOOOOOOOOOO00O0O0000 EO
E:;H+Hﬁ (3.132)

ooooooo

0000000 3000000 2900000 (Cooooon
00)00000000 Boltzmann OO O @I)00000000OO000O
oooo

© dG(t')

om=%%®Eﬂﬂ+2A — Bis(t = t)dt’ (3.133)

gooooooooooooooooooo m(t)DDDDDD G(t)D
alt) = — / m(t')dt! (3.134)
t/

() (3.135)

000000000000
0000000000 ||G||0000000000000000000
00000000000000000000000000000000
O00000000000000000000000000000000
O00000000000000000000000000000000
D000000000000000D00000000000000000
OGEH)ODODOODDOOO0 GE)®ooooooooooon

Gt Y =G(at') 0O<a<1 (3.136)
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0000 G)® D00 «000 GEH)000000000G(0)=00
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h%HGaww
0000000000000 00000000000000000000
000000000000000000000000000000000

0 Rivlin-Ericksen 0000 Ay 000000

‘:() (3.137)

AN G(t)
— N
A(N) = (*1) |:dt/]V:| v N = O, 1, 2, cte (3138)

O000ANMDODOODODOO0O0O00000ODOO0O000Ay=00

0000 @I36) 000
Al =aN Ay, (3.139)

O0000Coleman O NollOODO ®OoO0OO

n N
N _ N )T @
[Tt =>" ——A%
(n) N=0
2
= —t'Al) + (tAﬁ?) + tQA@§ -+ (3.140)
0000000000000
-] || = o) (3.141)

0000000000n=2000000 @IA)00 @I2R) 0000
00

ol 4+ pl = 1Al + 1AL + BAl) +0(a?) (3.142)

O00000TrAy=000000000
n= 7/ t'm(t")dt’ (3.143)
0

B = / / t't"a(t',t")dt' dt” (3.144)
0 0
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_ 1 > 12 / /
2= /0 2m(t)dt (3.145)
(

00000 @I&2)00000
o+ pl=nAx) +Bi(An)” + BoA (3.146)

0O (@0O0o0o0)200000oooooonop0p,000000oooo

00np000000 @) 00 B3R 0000000 @@o0000
00,0

Bo = — /0 h t'G(t)dt (3.147)
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[Doooooo
oob200000000020000000340000000000

000000 @B32)0DEIMMO00 @BI22)000G({H) 0

0 —(t—t) 0
Gt =| —vt—t) Yt-t) 0 (3.148)
0 0 0

00000000000 @GI28)000000 0,00000000 o011 —
O’22DDDDDDDD 0'22—0'33DDDDD[|

o12 = —/OO m(t')y(t —t")dt’

/ / a(t' , t")y(t — )Yt —t")

Fb(t' )Yt — )y (t — ))dt'dt” (3.149)

011 — 0922 = 7/ m(t')’y (t — tl)dt/

/ / a(t', ")+ b(t',t")]

N3t —t")]dt dt” (3.150)
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0922 — 033 — / m(t')’yQ(t — t/)dtl

/ / {a(' ")y (t —t)y(t —t")

tﬂ’+Mtﬂﬂ
xh%t—ﬂw%t—ﬂmhﬂdﬂ (3.151)

000000000000 200000000 40300400000
000000 @R 0000000000000000 @R 000
000000000000000000000000000000000
(003.C00)00000000000000000000000000
00000000

am:—/mmwwu—wm’ (3.152)
0

011 — 0922 = 7/ m(t’)’yz(t - t/)dtl (3153)
0

099 — 033 — / m(t')'yQ(t — tl)dt,
0

+/ / a(t' ")yt — )yt —t")dt'dt”  (3.154)
0 0

goooooooo
00000 4(t—-#)00000 x000000000000 @BI48)
oo
0 —k({t'—t) 0
Gt)=| —st'—t) w2t —-t)?% 0 (3.155)
0 0 0

k 0
0 0 (3.156)
0 0
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0 0 0
Agy=| 0 22 0 (3.157)
0 0 0

00000000000 @Eeooooo

O12 =Nk (3.158)
o11 — O2n = =202k (3.159)
092 — 033 = (B1 + 202)K> (3.160)

gboaboodaogad
000000000 6000000 G)OOOOOOOOO

n:A Gt (3.161)

@z—A tG(t)dt (3.162)
00000 G(#) >00000000000000

n>0 B2 <0 (3.163)
0000000000000 @00 @79 00

l
2 = lim G (UJ)

w—0 W2

(3.164)
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o (t) = —poy (t) + poly" (to) — " ()]
= —py (t) + poy" (to) (3.166)

gbboobodabooobooboobooboboboboobon

[V (@) = |7 (to)| (3.167)

O000000wO000000000p=po+p 0000000000
000000000000 n00000000000000 F,0000
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000000000000000000000000000000000

F, -n=—py+ o (3.168)
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00000000000 t, 0000000 b; (:=1,2,3)000000
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say-am):-%N@hﬂmﬂ?+mg?+mg2—m (3.169)

obooboooboooooonN ODODOobOOobDOobobDonbotgeg 1000

0000000 @R0@E) 0 @ooo

1 00
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0 0 1
(@)* 0 0
i (t) = 0 (a2)? O (3.171)
0 0 (a3)2
000000000 @I69) O
1 g
S(t) — S(to) = _§NOCkB[Z Z’ylj (to)’yij(t) — 3] (3.172)
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ooooo
O00000000000000 dWw DO
1 i
dw = gzizzj:aﬂd%j (3.173)
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000000000000000000 @& 000
> A¥dyi; =0 (3.176)
i

000000020000 Lagrange 00 00000000000000
Op00 BIMOOODOD @IB)O0O000000

> > [0 + py? = NocksTv" (to)ldvi; = 0 (3.177)
g

00000000000000000dy;00000000000000
o = —py" + NockpT~" (to) (3.178)

000000000000000 @86 000000000000
to = NocksT (3.179)

gooobooooo
0000 BIs0) 00000t 0 ¢00000 po00OO0¢t—¢ 0000
0000000000000 —co< ¢ <¢000D0O0OO0O0OOOOOO
gooobooooo
t

o () + oy (1) = / p(t— YW — AN (3.180)

—00
gooooood
t

o (t) +py (t) = / p(t — ')y (t))ar’ (3.181)

0000000000D00000000
t
p=po+ / p(t —tHdt (3.182)
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D00000000000000000 u(t—¢)000000000000
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0000000000000000000000D0000000 N(t—t)
O
u(t —t') = ckgTN(t—t) (3.183)
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00000000000 @I8)000000000000000000
O00004%@#)00 @I 0000000000004%(t)00 B.60)
00000000000000D000¢+000000000000000
O00D000006Y =p; 000000000 EROOODODO

pok® ik 0
pij+podi;=| mrk 0 0 (3.184)
0 0 O
goooboooboodw,O
i E/ u(t)endt (3.185)
0
gboooboooogon
D12 = P21 = MK (3.186)
P11 — P22 = pak® (3.187)
P22 — P33 =0 (3.188)

0000000 BIRG D00 <00000000DDODOOO

= = /0 T Lt (3.189)
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goboooboooooobooooobboooooooboobooboooooooo
oooooobOooooOooobobo0oooOoOooobO100b0o0 102000
OII030000 1110 300000000000000000000OO

Z Z%a (3.190)
ZZZZ% Yt ()7 ()7 (t) (3.191)

(¢, ') =

(3.192)

00¢#00+¢t00000000000000000 (00000000
000000000000 O0)0 MOMOXOD0O0OO

I=X+ X3+ )] (3.193)
IT = A} + A3 + A (3.194)
III = A\IA3)3 (3.195)

oooo
000000000000000 Z0O0O0000 1002003000
01,0101, 0

I, =TZ, 1II;=TZ> 1II;=TrZ3 (3.196)
00000000000
1
Y, =TZ, II, ::§KT¥ZF-—T¥Zﬂ, 1, = |Z| (3.197)
0000000000000000000000

00o0ooooooImoogoobooooooooooooooon
0010000000000 000O0000O0O000DOOO0 I0II0OO
oboooooooooooon

t

aij(t)—&-p’yij(t):/ plt — 1, ), TL(t, ¢)]y9 (¢)dt’ (3.198)

— 00
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good

Jij(t)+p’yij(t)/t p(t —tR[I(t, ), T1(t, )]y (')At (3.199)
00000000000000 A[It,t), 11 )] 0 It )OI, ) 00
00000000000 00000000000000

00000000000000000000000000000000
O00000000000000000000000000000000
O00000000000000000000000000000000
ooo (oo10@0oooooooon
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1. 000000000 Newton0O0OODOO0O0O00 70000000
000000« 000000000000007,0000000
0000000 x000000000 p(k) 00000 w0000
00000000 p*(w) 0000 p*(w)|00000000000
0 Cox-Merz 0000000

2.000000000m2(t)/o1x(00)0000000000DDODOO
0000 J(t;012)000000000000000,,000000
00000000000000000¢— 000 J(to) 0000
00 p00000000000006,,00000000 Newton
00000000000000000000000000

3.000000000000 0000000000000 G*(w)O
00000000000 ~wt)DOODOD0O w0O0O000O0000OO
obooboobooboooobooooon

4. 0000000000000 000OO00O0U0OO0OOOOOn)O
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logG(1:3) (dyne/cm’)
o
&

log t/s

03100000000

0000+00000000000000 (DUooO0n)boo
000000000xk0000000p)000000O0O0O0OOO
00000o00O00O0o0o0ooooUooo(oooogn o
0000D00000000000 0p(t) 000000000000
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5. bgoboOobOooboobobboboobobobooboobob
obooooboboooboobooobooboono «x000000d
oono

6. 0000boobobDbOobobooboobooboobonbbo

000000000~ 00000004y 0000000000 G()
000¢000000000000 012(t)0 7% 0000000000000
031000000000000000000000000000 20%0
00000000000 Gy)000™@oooo
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109G, (t; o) (dynelem?)

O 1 1 1
0 1 2 3 4

logt/s
0311 000000000000
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OO00D00 004100 2400000000000000000
Ub00ob0obOOobO0obOobO0obOobOobObObDONnO0O0O0000y
0000 G(;v) 00000000000 O00D0O0O00O0O0O0OO0OO0
000000000000~ 0000000000 G(tv)0 w000
gobooboboobooobooobooooobooooooooooboooon
oobooooboooobooooooobooooboooooooooon
oooobooboooobO ypyOOoboooOobOoboooooboo
uboooboooobobooogn 3110000
0000000000000 G(;v) 000000000000 40O
0000000000000 000O00o00oooD @o)uoood
goooooboooboobobooooobooogoon
031000031100000000000000000000 G(t;790)
0000~ 00000000 3.1200000000000 G(t;v)00O
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L

log [G(t; )/ Go(1)]

-2 L L
0 1 2

log (1/15)

0 312000000000001000

oooobD10o0boI1Ioooooon
0000000000000 00O0O0O0DO00OoG(vw)OOoooOo 10
oooIloooooOo0oOooooooobobooDOOobbOOog-0830000
00000000 @09 0000 A0 AI)00OOOOOOOOOOOO
ooooobogoo 3100 311o0goooobo 1boobooooboooogoo
goboooboooboobooooboooobooobooooooon
0000000000100 00000000000 D1 OOOO0O0oO
00000 GBI 000000000o000ooo0ooooooog
gbobooboboooobobooogooboo
goboooooobobooooboobooobOoobooooonn
00000 Boltzmann OO OODO0OOOO0ODOOCOODOOOOODOOO
goooboobooooboboooogobobooooobooooobooon
goboooooobooboooobooobooobobooobooooon
gbobooboboooooboooobooooono
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0(00)000034000000000000000000000 0120
0100000 011 —0o2000 200000 092 —033 03000000
oooooooo

012 = 05(K) (3.200)
o11 — 022 = 01(k) (3.201)
022 — 033 = 02(k) (3.202)

0000x00000000000 oy(k)0oi(k)0o(k) 0000000
000000000o00o0o0ooO2000 (0O00O0)0D0ooOoOoOoO
000 34100000000

Material Objectivity 0 00 0 BII6) 00O

os(—k) = —0s(k), o01(k) =01(—k), o02(k) =02(—k) (3.203)

0000000000000000,(x)0000064(k) (i=1,2)000
0000000000000000

05(0) = 01(0) = 02(0) =0 (3.204)
oo ooooobooooooobog
kos(k) >0 (3.205)

000000000 Rk 000

n(k) = - (3.206)
000000000 NewtonO OO
os(k) =nok, o1(k) =o02(k) =0 (3.207)

000000000000007 000000000
0000000000000 @200) 00000 B206) 000000
00000000000 0,000000

k= g(os) (3.208)

obooooooobobobooooooooonouobobskO o000
00000000000 000ONewtonOOOOOOOOOOOOO
oooooooog
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3.6.1 Poiseuille 00O

0000000000000000000000000000 (z,7,6)
00000000000000 v=(v:e,0%)0

v =w(r), " =0, v'=0 (3.209)

000000000000000 ROOOOOO0D0000000000
0(0O00D0000)oo0
v(R) =0 (3.210)

ooooooooooooooOoOoOoon p; 000000

pZZ pz'r 0
Pij = Prz Prr 0O (3.211)
0 0 poo

o000
;000 »0000000000000000000000000C
0O f0O

f= [/ UZZdA:| - [/ azsz] —/ /%pdAdz
S Z2=2z1 S zZ=2z2 z1 S 62

:=/£K0u-—p¢k:@-—(Uu~—p¢L:szA (3.212)

000o0oooosSOo000odo0dpOOdO0OD0DOD0OywO0DOOOOODO
0000 Fpo=-VyOOUOOOODODODODODOOODOOODODDOODOOOO
ooooo FO

I S
TR?(z2 — 21)
O00o0ooooooooboobDbOyOOoOoOoooooOFOOOOOOO
gogbobtooooobooboboobbooobbooobbuooboooo
00000000 F0O00OO0OO0O0ODO0O0ODO0

0000 k0 k=—-dv(r)/dr00000 (B208) 0O

F= (3.213)

_ do(r)
dr

=g(os) (3.214)
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R
v(r) = / g(og)dr’ (3.215)

uboboboooboogoobooboboboboboobobobab
oo vao

R
V= 27r/ v(r)rdr
0

FR/2
= % vig(v)dy (3.216)
0
ooooooo
Newton DO DO ODODO
F
u(r) = %(R2 —r?) (3.217)

OO0000O0O0000DOOCO0O000DOOOO0O0000n0O Poiseuille O
oooobooooooooobooogovo

TRYF
8o

R
Vv :/ v(r’)2mr'dr’ = (3.218)
0

OO00000DDO Poiseuile 000000000000 0OOO0DOD 400
0000000 (Oo0ooo0oOo)oooooo

—0ooood—
00+000000D0000 QUDOO0OO0 @=Vviooooooooad

0o0000DO00oooonD ApODOOOYODOO0OD0 AOODOOF =

Ap/t=pgh/t00000000p0000000gO00OOOOOOOO

0 @2®) 000

TR*Ap 7R*pgh
8¢no - 8¢no

OO000000D0O0O0OQQOROpORO¢ODOOOOOODOOtOOO
gbobodnbo0bOo0bOo0obOobbobbobbobbobboon

Q= ¢
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gbobobobobooboboboboooobobooooooooon
gooooood

0 @X)0000000000000000

1
Pzr = Prz = _§F7,. (3219)
f1
Prr = Fz+ ptp + / 702 [g(Fr'/2)]dr" + const (3.220)
P2z — prr = 01[g(F'r/2)] (3.221)
Prr — Dog = 02[g(Fr/2)] (3.222)

000000000000000D0002RO000000 BarusOODO
03200000 @2Z2)0000000000000oooonoo

3.6.2 Couette

000000000000 R, 0000 R,UDDOO 20000 (00O)
obOobooobooobooobooboooboboooboboooboooon
00000oO0o0o0o0oooon (2,70 00000000O000ODODOO

v = (v¥,0",0%) 0
v =0, v =0, v’=w) (3.223)

O0000000w(r)D»00000000000OR; <R, 000

w(Ri) =1,  w(R2) =D (3.224)
goobooodo 0o
dw
=—-T— 3.225
K rdr ( )
pooooodoooooooobooooood p;d00o00d
poo por 0O
pij =\ Pro Prr 0 (3.226)

0 0 p2
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O000000000000000000000 (00)0 MOODOOO
0@E2W))0 @22 00000000000

dw(r)
dr

— %g(M/Zm"z) (3.227)

ooooobooo

1 Os,r=Ry o 1 M/QWR? 1
Qo — U = f/ Mdas = f/ —g(v)dv (3.228)

2 s,r=Rg Os 2 M/2mR3 v

O0O00O0ONewton D0000Og(0s) =0s/mp 0000

1 M/27R? 1 1 [Osr=Ri 1
Oy — Q= 7/ du(: f/ 1 das>
2 M/2nR2 7o 2 Os,r=Ro Mo
M 1 1
=—| = - = 3.229
4o (R% R%) ( )
ogooo

0@E226)0000000000000000

M
2mr2

Por = Pro = (3230)

" 1
Prr = pth — {pr’w2(r’) -0 [g(M/Zwr'z)]}dr' +const  (3.231)

Poo — Prr = o1[g(M/2777)] (3.232)
Prr — Paz = 02[g(M/211?)] (3.233)

0000004 0000000000 @3)00000000000
OoooDoooo

Rs

o) o) = - |

{per(T) - %01 [g(M/QWrZ)]}dr (3.234)
Ry

O0000(R,—Ry)/Ri <R, 00000000

Ry — Ry

T [9(M/2mR3)] (3.235)

prr(RZ) - prr(Rl) ~
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good

0 B230) 0
M = 2nr?n(k)k (3.236)

O00D0ONewton 00000000000 @229000000

20 —)RIRE 1

3.237
I T (8.237)

oooooo0o0ooobo0oooobDbo0oooDbOoO00 kOD000 MO

2(Qp — Q1) R3
RZ - R?
M =27R}0,,—Rr, = 27 R3nok,—R, (3.238)

Rr=R; =

00000000000000000000000 «O0000 MO
2(Qp — Q1) R?

RS — RY
M =2nR304 ,—r, = 2T R3N0k =R, (3.239)

Rr=Ry =

gboboobOoboobooboboooooboooooboobooonoo

3.6.3 DUO0ODOOO0ODOODOO

000000000000 00000000000000000000
0000000000000000000000000 (r,6,4)00000
00006¢=x/200000060=n/2-600006000000000
0000000000000000 v= ("0, 090

v" =0, o'=0, v®=rsinfw(r) (3.240)

O00000000w(r)Or00000000O0OOOOOOOOOOOO
ooooo0QoOpo0ooooog k0O

dw
=sinf— 241
k=sinf— (3.241)
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Oo000000éx 1000OO

K= % (3.242)

ooboooobooOooooooooooboo -oboboobobOooboooon
oooooooooooop; 000000

Doy DPpo O
Dij = | pes Dpos O (3.243)
0 0 pm

0000000000 ROOODUOODDOUOOODDOUOODOO (OD)M
O

R
2
M = / o sp2mr2dr = %Ri”%e(n) (3.244)
0

0000000000n(k) =0s(x)/«0000000000 n(x)0

n(k) = Qiﬂéjg (3.245)
goooboobogd
0 @E243)00000000o0o0oouoo
Deo = Pogp = 2:;]\;3 (3.246)
Pos — Pog = 01(K) (3.247)
Poo — prr = 02(K) (3.248)

000000000000000000 (00000normal thrust)Tx
O

= SRo1(r) (3.249)

obooobOooooboobooIyO000o0O0ob 100000000000



3.6 ODOOOOO 113

3.64 DUO0ODOODOOOO

0000000000 20000000000 00000O0200000
000000000000 ooooooooo
(r,0,2)00000000000000 v=(v",v0,0*)0

=0, W=rw, ©*=0 (3.250)

DDDDDDDDw(r)D rO00000000002000000000
0000 Q00000000 k0O
dw
=r— 3.251
K sz ( )
oooooooooooooOOOOOOOO000 p; 000000

peo P9 O
Dij = Pz0 DPzz 0 (3252)
0 0 ppr

0000000000 ROOOO0OO0D000A0000000000000O
0000 (00)MO

R 3 K
oh3 [rm
M= / o 2mr2dr = T / K204 (K)dk (3.253)
0 Q2 0
oooooooo RO

0000000000 000O0000O00D @B22)0000Uoooo
oboooooboooo

Poo — P22 = 01(K) (3.255)

pzz*prr:CTQ(//‘:) (3256)
gddoddodooooouoouoouoodoooooooog r
0000000000000 0000000 (normal thrust)Ty O

R
Ty = 7'('/0 [pee (r) —2p.. (’I“) + Drr (T)]Td’l“

T 2 Km
_ Qig /0 (01 () — ()] dlr (3.257)
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goooood
ggd
Og = T](ﬂi, g1 = 91H2, g9 — O
ooooooo
M:WR4QT}0
2h
7TR49291
Ty = ————
N 4h2

oo0oooo0ddnU0e, 0000000

goooaoo

(3.258)

(3.259)

(3.260)
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3A 000000

0313000000 Y'Y?Y30OOOOoOOOoooO000000000o
00000 e;0e0e; 0000000000000000000O0 1
00000000000000000000000000 007000
000000 “00”’00000000000000000000000
POOODO Y'Y2Y3OOOOO (y,4%,4%) 0000000000000

O
3

r= Zyiei (3.A.1)

=1

ooooo
Einstein 0 0 0000000000000 D000O0D0O00ODOOOOO
000000000000000000000000000000000
0o

r=y'e (3.A.2)
00000000000000000000000000D0 POOOO
000 Pyt +dyt,y? +dy?,y3 +dy®) 00000 ds0O000

ds? =dr-dr
= (e; - e;)dy'dy’
= 0;dy'dy’
= dy'dy’ (3.A.3)

oooo
OPOOODDDOX!X2X*OOOOO (24, 2%,23) 000y, v2, 4°) 0
00010100 2t =24y, 9%,¢%)(i=1,2,3) 00000000000

0000000000000 rO

or

dr = ozt

da’ (3.A.4)

0000ds?2 0

ds? = <86; . (%)dxidmj
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3
Y e
a
: P
P
€; &
r & S
€, &
. »
031300000
= g;;drida’ (3.A.5)

000000000y, 0

__Or Or
gij:%'@
000000000000 000D000000 (g5=9;)0000

00000 XIX2X300oOoOooo0o ayJaydag O
Or
aizﬁ
0000000 D0000X'0000000000000000000
a; 000 (24,2%,23)0000000000000(0 313000000
Oa (:=1,23)00PO0000O0O0O0O0O0O0O0O0O0O0O0ODOOOOOO
00000)0004a (:=1,2,3)00000000000000000

BADD BAG D a; 0000
dr = a;da’ (3.A.8)

(3.A.6)

(i=1,2,3) (3.A.7)

9ij = a&; - a; (3.A.9)
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00000Y-00O0O0O0Odr=ey000000dr0 X-000000

GA])o0DO00000D

~da’ (3.A.10)

- eiaxﬂ
oooooooooo .
ay*
a; = 81’j €e; (3A11)

0000000000 a,0000000000000000
000000 a; (:=1,2,3)0000000000000000000
a' (i=1,2,3) 000000

al = 2273 ><a3’ a2= B2 ><a1) ad = 2782 A (3.A.12)
[313233] [313233] [313233}

0000 [ajara3] 00000 300 a;-az xaz 00 [ajazaz] = /g (9=

lg;; ) 0000000000000 O000O00OO0O00OO0rO000OO0

Odr=a'de; 0000000
ds* = (a’ - al)dw;dz;
= g"dx;dx; (3.A.13)
o0o0obo0o0dbOd; 000DO0O0O0OO0ODOOOODO:O0D0O0OOODO

00O0000gY 0
g7 =a'-al =gt (3.A.14)

000000000000000000g;0¢90000 gpg* =460
00000000006 O Kronecker 10000 2000000000
ooo

3B ODO00O0O0OO0OODO

1000000000000000¢00000000 (24, 2%, 2%) — (¥,
y?,¢y*)000000000000000000000000000 &(«1,
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a?,2%) 0 &(y' v v°) O

oxJ
fé:@*yifj (3.B.1)
gooo0oooooooooo0ooobooooooooooooooo
DDDDDDDDDDDDDDDDDDDDDDDDDDDDDD§j(x1,
z?, %) 0 &7yt 2, v°) O
i ayi
¢ Zaxjfj (3.B.2)
gogdooooogoguooooooooooogugboooouoogggoo
Oo00ooooooooo
200000000000000000000O00O00O (xl,xz,xS)H

(y',%%,»*) 000000000

Az ox!

!

= - — .B.
Gij 8yl ay] 9kl (3 3)

oboooboooboobuoobuooboooboobon
7ayiayj ki
= 9zk 9zl 7
gooooooooboboooooooa
oo ooooooooooooooooon
00000O0o0O0O000O0000 (CoooUoooD)0Dbooooooo
01000000000000 (covariant) 0000 O (contravariant) O
goopoooooooboo
031400000000000000000sO0X'00000000
00000 X'00000000000X200000000 X20000
0000000D0000000000sO0X!' 000000000000
X?0000000000000X!'0000000X?200000000
0000 X'O0000O000000000 X2 0000000oooooao
O00covariant(00) 0 “co” DOOO0OO0OOOO (go against) 10O OO
contravariant(0J O ) O “contra” DO 000000 (go with)y OO OO
goooooooooobdooooob bbb ooooon

/i

(3.B.4)
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03140000 0000000000

0000000000000 00000000000000000000
0000000000000000000000000000000OO
000000000000000000000000000
00000000000000000000000000000000
o000

0315000 X-0000 Y-000OOOODOO00000Y!00 X20
0000Y?200 X!000O000O00000000X! 00 X20000
00000 «0Y'0O0 Y20OOOOO0O000 gOX'00Y'ooooo
0000 60000a+B8=n0a—0=7/200000000000s0
X-00000000000 (21,2:)00000 (21,22 000 Y-00O00
0000000 (y,y,)00000 (y,4?) 0000000000000
X-0000O00000000000000

z; = 2! 4+ 2%sin 6, Ty =22 + ' sind (3.B.5)
oooooooy-ooooo
y1=y' —y’sinb, Yo = y* —y'sing (3.B.6)

0000000000 sO0000 s=s|0000000000DO0OX-
gbooobogoboooo

5?2 = (2)? + 22 2% cos o + (22)? (3.B.7)
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yz ........ I
R
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v P X
S a: "'-,
1 '_'. 1
6 B y?
Y1 yl

0315 X-0000 Y- OOoooooooooood

ubooboobgoooan

5 (m1)? —22'2% cosa + (w2)?
ST =
sin® o

oooooooy-ooooo

s? = (y')? = 2y"y? cosa + (y°)?

ooooOoooooooon

2 (y1)? 4 2y y? cos o + (y2)?
sin® o

oood
X-00Ooooooooooooo g, 00000 BBD)D0D

s? = gijx'x?

1 COS (v
gij =
CoS (v 1

0000000000000 ¢gY900000 @BI)0

oooobooooo

2= gY xx;

(3.B.8)

(3.B.9)

(3.B.10)

(3.B.11)

(3.B.12)

(3.B.13)
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googoooood

y 1 1 — cos
g7 = —; ( COW) (3.B.14)

sin” «v —cosa 1

00000 GBBI0 @EBIHCOO0OOOO0OODOODODOOOOO
O00000000000000000000000000000000

;0690000000 BBA)D0

z; = gijx’ (3.B.15)

a' = gz; (3.B.16)
000000 @BI60D @BBINOOO0OOO

s* = x;x (3.B.17)

goooood
Y-OOoooooooooooooboooooooobooooooooo

3.C 0DOOooogo

0 @ERy000000i0o0dn400000000000000

o+pl= /OOO m(s)G(s)ds

_|_/OO /Oo{a(81,82)G(51)G(82)

+b(s1, $2)[TrG(s1)]G(s2) }ds1dsa}

/ / / {e(51, 52, 53)G(51) G (52) G (53)

Fd(s1, 52, 53)[TrG(s1)]G(s52) G(s3)
+e(s1, 52, 53)[TrG(s1)][TrG(s2)] G(s3)
+f(s1, 82, 83)[Tr[G(s1)G(s2)]]G(s3) }ds1dsadss }dsidsadss

////{g81’82’33784)G(51)G(52)G(83)G(34)

+h(s1, 82,83, 84)[TrG(s1)|G(52)G(83)G(s4)
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+i(51, 52, 53, 54)[TrG(51)][TrG (52)| G (53) G (54)
+i (51,52, 53, 54)[Tr[G(51) G (52)]] G(s3) G(s4)

Xd51d82d53d84

0000000000000 0 xkO000000000O n(k)0O

_ o2
n(k) = -

=no + (a1 +bo + co + 2fo)K>

00000000 NewtonOOOOGOOOODOODO

o = —/ m(s)sds
0

ay :/ a(sl,SQ)s%SstldSQ
0
bo :/ / b(81752)8%82d81d82
o Jo

o= )
o Jo

o0
= [

0

0o oo
/ f(sh82733)515283d81d82d83
0 0

c(s1, 82, 83)818253ds1dsadss

oood

(3.C.1)

(3.C.2)

(3.C.3)

(3.C.4)
(3.C.5)
(3.C.6)

(3.C.7)
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3.D Weissenberg [1[]
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Weissenberg 0 000 0000000000000 O0O0O00ODODOOOO
goobobooooooobooboooooooboobooooobooon
oboboooboooboobooboboboobooboboboooooon
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obooooOobooooobooooooon

gooooobooo

Weissenberg U 0 00000000 0OO0D0OOODOOODOOODOOODOO
goboooboobboooobooobbooooboooboooboooon
OO0OO00O000 WeissenbergD O OO OOOOO00OOOOOO0OOOOOO
gobooboobobooobboobboobboobboobbooo
goooo

Weissenberg 0 000 00000000000000C (000 Oradian/sec)
00000000000000 (sec”})000000O00DOOOOOOO
000 w000 A0DDO0O0DOQOOODOO (ODO0)yO

_99
Ot or

0
= Awaf(r) cos(wt) (3.D.1)

y Af(r)sin(wt)

00000000000 r-o00oo0oUoO0f(ry)0r000O0OOoOOO
goboobboooooobobooooooobooobboooooooboooon
gobooboooobooboooboboooooooboobobooon
gobooobooooboobooooobooobobooboooooboooon
OO0DO0O00000O0D0D0000 WeissenbergODOOOOOOODOOO
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O 3.26 Leonhard Paul Euler (1707/4/15—1783/9/18)

O 3.27 Joseph-Louis Lagrange (1736/1/25—1813/4/10)
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O 3.28 Augustin Louis Cauchy (1789/8/21—1857/5/23)

0 3.29 George Green (1793/7/14—1841/5/31)
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O 3.34 Friedrich Wilhelm Ostwald (1853/9/2—1932/4/4)
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O 3.40 Ronald Samuel Rivlin (1915/5/6—2005/10/4)
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3. 00O00Ogo 143

0 3.44 Arthur Scott Lodge (1922/9/20—2005/6/24)
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O 3.46 Eugene Cook Bingham (1878/12/7—1945/11/6)

O 3.47 James Gardner Oldroyd (1921—1982/11/22)
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0 3.48 Crifford Ambrose Truesdell ITI (1919/2/18—2000/1/14)

£

Left to right: E. F. Casassa, B. D. Coleman, Hershel Markovitz,
G. C. Berry. Conti Mechanics and Vi lasticity

O 3.49 The great in Mellon Institute (at the 50th anniversary in 1963)
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